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What does MPLS stand for, and what is its role in cross-region networks?
Response:

A. Multiple Protocol Label Switching; it enhances data routing efficiency
B. Major Public Local Server; it stores data

C. Multi-Path Link System:; it increases network speed

D. Main Protocol Layer Security; it secures the network

Answer: A

What technology is crucial for connecting private and public clouds in a hybrid cloud setup?
Response:

A. Virtual Private Network (VPN)

B. Local Area Network (LAN)

C. Public Internet

D. Content Delivery Network (CDN)

Answer: A

What does CDN stand for in the context of cross-region networks?
Response:

A. Central Data Network

B. Content Delivery Network

C. Cross-Departmental Networking
D. Comprehensive Data Notation

Answer: B
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Which two of the following IP addresses are private IP addresses?
(Number of correct answers: 2)
Response:

A.10.44.10.45
B.192.169.1.1
C.172.16.58.14
D. 8.8.8.8

Answer: A,C

Which of the following protocols is encrypted by using SSL?
Response:

A. HTTP

B. telnet
C. HTTPS
D. ftp

Answer: C

When you deploy a new enhanced NAT gateway, which of the following statements is TRUE regarding
NAT Gateway billing model?
Response:

A. Subscription and pay-by-specification

B. Subscription and pay-by-capacity unit (CU)
C. Only pay-by-CU

D. Only pay-by-specification

Answer: B

Which two of the following cloud services can be used if an ECS instance in a VPC needs to access the
Internet
(Number of correct answers: 2)
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Response:

A. CEN

B. EIP

C. NAT Gateway
D.SLB

Answer: B,C

How can a hybrid cloud strategy impact an organization's operational costs?
Response:

A. Always increases operational costs

B. Can optimize costs by leveraging both private and public cloud resources
C. Has no impact on costs

D. Decreases costs only in the short term

Answer: B

What challenge does high latency pose in cross-region networks?
Response:

A. Decreased data storage capacity
B. More efficient network operations
C. Increased network security

D. Slower data transmission speeds

Answer: D

In Alibaba Cloud, which service is used to distribute network traffic across multiple servers?
Response:

A. SLB (Server Load Balancer)

B. ECS (Elastic Compute Service)

C. 0SS (Object Storage Service)

D. RDS (Relational Database Service)
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Answer: A
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